The group G is isomorphic to the group labelled by [ 64, 6 ] in the Small Groups library.
Ordinary character table of G = ((C4: C8) : C2) : 1

la 8a 2a  4da 4b 26 2c 8b 8c 8d 4c 2d 4d de 4f 4g 2e 8e 8f 8g 8h 4h 44 45 81 87 8k 81
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 1 -1 1 1 1 1 -1 1 1 -1 -1 1 1 1 1 1 —1 -1 -1 1 -1 1 1 —1 -1 -1 -1
X3 1 —1 1 1 1 1 1 -1 -1 -1 1 1 1 1 1 1 1 -1 -1 -1 -1 1 1 1 -1 -1 -1 —1
X4 1 —1 -1 1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 1 1 1 1 -1 -1 1 1 1 1 1 1
s |1 E@ 1 1 1 11 E(4) “EM#)  E@) -1 1 1 1 -1 -1 1 _E(4) E(4) E(4) “EM4) -1 1 - _E(4) _E(4) E(4) _E(4)
e |1 E@ -1 1 -1 11 —E(4) B4 E(4) 1 -1 1 1 1 1 1 E(4) —E(4) —E4) “E@ 1 1 1 E(4) E(4) —E(4) E(4)
v |1 —E@4) 1 1 1 11 —E4) E(4) —E@4) -1 1 1 1 1 1 1 E(4) —E(4) —E4) E@4) 1 1 1 E(4) E(4) —E(4) E(4)
Xs | 1 —E@4) -1 1 1 11 E(4) E(4) -E(4) 1 -1 -1 1 1 1 1 _E(4) E(4) E(4) E(4) | 1 1 _E(4) —B(4 E(4) —E(4)
xo | 1 E@®) 11 E(4) 1 -1 E(8) E®)? —-E@®) E@4) -1 E(4) -1 E(4) —-E(4) -1 E(8)3 E(8) —E(8) —-E®)? —E4) -E4) —E(4) E(8)3 —E(8)? —E(8) —E(8)
xol|1 E® -1 1  E4 1 -1  —E@® E(8)P —E@8) -E@4) 1 E4) -1 EBE@#)  —E4) -1  —E@®)? _E(®) E(8) _EQ)® E@) —E(4) —E@4) _E@®) E(8)° E®) E(8)°
xu|l -E® 1 1 B4 1 -1 _E(8) ~ER®? E®B) E@) -1 E@) -1 B4 ~E@4) -1  —E@®)? —E(8) E(8) E(8)? —E@4) -E@4) —EB(A4) —B@8)? B(8)? E(8) E(8)?
x|l —E@® -1 1 B4 1 -1 E(8) _E@) E®) -E(4) 1 E@4) -1 E4)  -E4) -1 E(8)° E(8) _E®) EQ)? E@4) -E@4) -E@&) E(8)° K _E®) _E®)
|1 B®P 11 —BM) 1 -1 E(8)° E(8) -E@° -E(4) -1 -E@&4) -1 -BE@#)  E@) -1 E(8) E(8)? _E@®)°®  -E@) E#) E@) E(4) E(8) _E@) _E(@8)° _E(8)
xiu |1 E@®? -1 1 —FE(4) 1 -1 —E(8)3 E®) -E®)?® E@4) 1 —-E(4) -1 -E#4) E(4) -1 —E(8) —E(8)® E(8)3 —E@8) —E(4) E(4) E(4) —FE(8) E(8) E(8)3 E(8)
wis| 1 —E®® 1 1 —E@4 1 -1  —E®P  —E@®) ER®?® —E@4) -1 —E@#4) -1 —E4  E4 -1  —E(@8) _E(8)® E(8)° E®)  E@)  E@) E(4) _E(®8) E(8) E(8)3 E(8)
x| 1 —E®? -1 1 —E4) 1 -1 E(8)° _E(8) E® E@#) 1 —E@#) -1 -E@4  E@A -1 E(8) E(8)° _E@8)° E() —E@4) E@® E(4) E(®) _E®) _E@®) _E(®)
x17 | 2 0 0 -2 2 2 2 0 0 0 0 0 -2 —2 2 2 2 0 0 0 0 0 -2 2 0 0 0 0
X8 | 2 0 0 -2 —2 2 2 0 0 0 0 0 2 —2 —2 —2 2 0 0 0 0 0 2 -2 0 0 0 0
Xl 2 0 0 -2 2«E@4) 2 -2 0 0 0 0 0 —2%BE@4) 2 2+«E@A) -2+E@4) -2 0 0 0 0 0 2+B(4) —2xE4) 0 0 0 0
X0 |2 0 0 -2 —2xE@) 2 -2 0 0 0 0 0 2+EM) 2 -—2xEd) 2+B@4) -2 0 0 0 0 0 —2xE(d) 2+E(4) 0 0 0 0
|2 0 0 0 2 2 2 E@®)-E@®?® 0 0 0 0 0 0 2 2 2 EQR)-E®B)® —E®)+E®R)? E®) - E@8)? 0 0 0 2 _E®)+E®)?® E®B)-EQR? —E®)+E®B)?® —E®)+E®)?
X22 | 2 0 0 0 2 -2 2 E(8)+ E(8)3 0 0 0 0 0 0 -2 2 -2 —E@®)+E®)? E@B)—-E®)? —E(@B8)+ E(@®)? 0 0 0 -2 E@)—E@8)?® —E®)+E®8)? FE®)—E®)?3 E@B8)-E@®)?
Xos | 20 0 0 2 2 2 E(8) E(8)® 0 0 0 0 0 0 2 2 2 _EQR)-E®8)® —E®B)-EQR)? E®)+E(@8)? 0 0 0 2 E(8)+ E(8) —E(8)—E®B)® —E@®)—E®)? E(@8)+E®)?
Xes| 2 0 0 0 2 2 2 —E®)-ER? 0 0 0 0 0 0 2 2 2 E@®)+E@8? E®)+ES? —E@8) -E®8? 0 0 0 2 ~E(8)— E(8)® E(8)+E®8)? E@8)+E®)?® —ES) - B(8)?
Xos| 20 0 0 2+E@A) -2 -2  1+E@4) 0 0 0 0 0 0 —2+B@4) —2+E(4) 2  —1+E4) ~1- B(4) ~1- B(4) 0 0 0 2 % B(4) 1= B(4) 1— E(4) 1+ E(4) 1% B(4)
X6 |2 0 0 0 2+EWX) -2 -2 —1-E@) 0 0 0 0 0 0 —2+«E4) —2+B(4) 2 1— E(4) 1+ E(4) 1+ E(4) 0 0 0 2% E(4)  —1+ E(4) —1+ E(4) ~1- E(4) 1— E(4)
xer | 20 0 0 —2+E@4) -2 -2 1-E@4) 0 0 0 0 0 0 2+BE@) 2+E@4) 2  —1-E(@4) —1+ E(4) 1+ E(4) 0 0 0 2% E@4) 1+ E(4) 1+ E(4) 1 - E(4) 11— E4)
Xes| 2 0 0 0 —2+BE4) -2 -2 —1+E(4) 0 0 0 0 0 0 2+E(4) 2+E@4) 2 1+ E(4) 1— B(4) 1 - E(4) 0 0 0 2% E(4)  —1- E(4) 11— B4) —1+ E(4) 1+ E(4)
Trivial source character table of G = ((C4: C8): C2): L at p=2:
Normalisers IV; Ny | No | N3 | Ny | N5 | Ng | N7 | Ng | Ng | Nig | N11 | N1z | N1z | N1y | Nis | Nig | N1z | Nig | Nig | Nag | Noy | Nog | Nog | Nog | Nas | Nog | Noz | Nog | Nog | N3g | V31 | N3o | N3z | N3y | N3s | N3g | N3z | Nag | Nag | Nyo | Naa
p-subgroups of G up to conjugacy in G Py |\ P | P3| Py | Ps | B | Pr | P | Po| Pio|Pin | Pia|Pis | Piu| Pis | Pig | Pir| Pig| Prog| Poo | Por | Poo | Pog | Pos | Pos | Pog | Por | Pag | Pag | P3o | P31 | Pso | P33 | Psa | Pss | Pag | P37 | Pag | Psg | Pao | Pu
Representatives n; € N; la |1la | la |1la | 1la |la|la|la|la| la | 1la | la | la | la la la la la la la la la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | la | 1la | 1la | 1la | 1la | 1la | la | la | la
1-xi1+1-xo+1-x3+1-xa+1-xs+1-x6+1-x7+1-xs+1-xo+1-xi0+1-x11+1-x2+1-xi3+1-xu+1-xi5+1-X16+2-X17+2-X18+2-X190+2-X0+2-Xo1+2-X22+2-Xx23+2-Xa+2-Xo5+2-Xo6+2-Xor+2-Xx28|64| 0| 0| 0] 0] 0] 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-xa+1-xa+1-x5+1-x6+1-x7+1-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-x14a+0-x15+0-X16+2-X17+2-Xx18+0-X190+0-x20+2-Xx21 +2-X2+2-x23+2-X24+0-X25+0-x%26+0-Xx27+0-x28|32|32] 0| 0|0 ]| 0| 0] 0] O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-xi+1-xo+1-xs+1-xa+1-xs+1-x6+1-x7+1-xs+1-xo+1-xr0+1-x11+1-x2+1-xi3+1-xu+1-x15+1-X16+2-Xx17+2-x18+2-X19+2-X20+0-X21+0-Xx22+0-x23+0-x24+0-x25+0-x26+0-Xx27+0-x28 (32| 0 |32 0] 0] 0| 0| 0] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xa+1-xo+1-xa+1-xa+1-x5+1-x6+1-x7+1-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-x14a+0-x15+0-X16+2-Xx17+2-x18+0-X190+0-x20+0-x21 +0-x22+0-x23+0-Xx24+2-Xo5+2-X26+2-Xor+2-Xx28|32| 0| 0 |32|0 ] 0| 0] 0] O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2o+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+1-x10+0-x11+1-x12+0-x13+1-x14a+0-x15+1-x16+1-x17+1-x18+1-x19+1-x20+1-x21+1-x2+1-x23+1-xoa+1-xo5+1-x6+1-xor+1-x28(32| 0| 0|0 |8] 0| 0] 0]|O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+1-x34+0-xa+1-x5+0-x6+1-x7+0-xs+1-xo+0-x10+1-x11+0-x12+1-x13+0-x14a+1-x15+0-x16+1-x17+1-xis+1-x19+1-x20+1-x21+1-x2+1-xa3+1-x2a+1 x5 +1-x26+1-xar+1-x28|32]| O 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-xo+1-x3+1-xa+1-x5+1-x¢6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-X16+2-x17+2-x18+0-X190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 16 |16 | 16 | 16 | O | 0 |16 | O | O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+1-x3+0-xa+0-x5+1-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+1-x18+0-x10+0-x20+1-x21+1-Xxo2+1 -x23+1-x24+0-x25+0-x26+0-x27+0-x28| 16 | 16 | O 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-x14+0-x15+0-Xx16+2-x17+0-x18+0-X190+0-x20+2-Xx21 +2-X22+0-x23+0-Xx24+0-x25+0-x26+0-x27+0-x28 |16 | 16| 0 | 0 | 0| 0| 0] 0|16 O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-X16+2-Xx17+0-x18+0-X190+0-x20+0-x21 +0-Xx22+2-x23+2-Xx24+0-x25+0-x%26+0-x27+0-x28| 16 |16 | O | O [ O | O | O | O | O | 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-x10+0-x11+0-X12+0-x13+0-x14+0-x15+0-x16+1-x17+1-X18+0-Xx190+0-x20+0-x21+0-x220+0-x23+0-x24+1-Xxo5+1-Xx26+1-Xor+1-x28| 16| 0 | 0O | 16| 4 | 4| 0| 0] 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-xo+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xg+1-xo+1-x0+1-x11+1-x12+1-x13+1-x1a+1-x15+1-x16+0-x17+0-x18+0-x190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 16| 0 | 16 | O 0 0 0 0 0 0 0 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi1+1-xo+1-x3+1-xa+1-x5+1-x6+1-x7+1-x8+0-x90+0-Xx10+0-x11+0-X12+0-x13+0-x14+0-x15+0-x16+0-Xx17+0-X18+2-X19+2-Xx20+0-X21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28 |16 | 0 | 16| 0| 0| 0| 0| 0] O 0 0 0 16 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-xg+0-xo+1-X10+0-x11+1-x12+0-x13+1-x14a+0-x15+1-x6+1-x17+1-x18+1-x19+1-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 16| 0 | 16 | O 8 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+1-x3+1-x4+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-X12+0-x13+0-x14+0-x15+0-x16+0-x17+2-X18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+1-x25+1-Xx26+1-Xor+1-x28| 16| 0 | 0 | 16| 0| 0| 0| 0] O 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+1-x34+0-xa+1-x5+0-x6+1-x7+0-xs+1-xo+0-x10+1-x11+0-x12+1-x13+0-x14+1-x15+0-x16+1-x17+1-x18+1-x19+1-Xx20+0-x21+0-x22+0-x23+0-%x244+0-x25+0-x%26+0-x27+0-x28| 16| 0 | 16 | O 0 8 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-x10+0-x11+0-X12+0-x13+0-x14+0-x15+0-x16+1-x17+1-X18+0-Xx190+0-x20+1-Xxo1+1-x22+1-x23+1-x24+0-x25+0-x26+0-Xx27+0-x28 |16 16| 0 | 0| 4| 4| 0| 0] 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+1-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28]| 8 8 8 8 4 4 8 0 0 0 4 0 0 4 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi1+1-x2+1-x3+1-xa+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14a+0-x15+0-x16+0-x17+2-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x274+0-x28| 8 | 8 | 8 | 8 0] 0|8 |01 O 0 0 0 0 0 8 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-x3+1-xa+1-x5+1-x¢6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-X16+0-x17+0-x18+0-X190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27r+0-x28| 8 | 8 | 8 | 8 [ 0| 0| 8] 0|0 0 0 3 8 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+1-x3+0-xa+0-x5+1-x6+0-x7+1-x8+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+1-x17+1-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 8 8 8 8 0 0 8 4 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-X16+2-x17+0-x18+0-X190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 8 | 8 | 8 | 8| 0| 0| 8] 0| 8 3 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+1-x3+0-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-x19+0-x20+1-x21+1-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 8 8 0 0 2 2 0 2 8 0 0 0 0 0 0 0 2 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-xg+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-Xx19+0-x20+0-x21+0-x220+1-Xx23+1-X2a+0-x25+0-x26+0-Xx27+0-x28| 8| 8| 0| 0|22 |0|2]0 8 0 0 0 0 0 0 2 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-xg+1-x9+0-x10+1-x11+0-x12+1-x13+0-x14a+1-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 8 0 8 0 0 8 0 0 0 0 0 8 0 0 0 8 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x24+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-Xx13+0-x14a+0-x15+0-x16+0-x174+0-x18+1-Xx19+1-x20+0-x21+0-x22+0-x234+0-x24+0-x25+0-%26+0-X27+0-x28| 8 | O | 8 | 04| 4| 0] 0] O0 0 0 0 8 4 0 4 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-xo+1-x10+0-x11+1-x12+0-x13+1-x14a+0-x15+1-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 8 0 8 0 8 0 0 0 0 0 0 8 0 8 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-Xx16+1-x17+0-x18+0-X10+0-x20+1-x21+1-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 8 | 8| 0| 0|0 ]| 0| 0] 0] 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x2a+1-x25+0-x26+1-x27+0-x28]| 8 0 0 8 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-x8+0-xXo+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-Xx19+0-x20+0-x21+0-x220+0-Xx23+0-x24+0-x25+1-x26+0-xor+1-x28| 8| 0] 0|8 |00 | 0| 0] 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-x2+1-x3+1-xa+0-x5+0-x6+0-x7+0-xg+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x220+0-x23+0-x%2a+0-x25+0-x26+0-Xxo7+0-x8| 4 | 4| 4| 4|00 |4 | 0] 4 4 0 4 4 0 4 0 0 0 4 4 0 4 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-Xx12+0-x13+0-x14+0-x15+0-x16+1-x17+0-X18+0-x19+0-x20+0-x21 +0-Xx220+0-x23+0-x24+0-x25+0-Xx26+0-Xx27+0-x28 | 4 | 4 | 4 | 4| 2| 2| 4] 2] 4 4 2 0 0 2 0 2 2 2 0 0 2 4 2 2 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-%24+0-x25+0-x26+0-x27+0-x08| 4 4 4 4 4 4 4 0 0 0 4 4 4 4 0 4 4 4 0 4 0 0 0 0 4 4 4 0 0 0 0 0 4 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+1-x6+0-x7+1-x8+0-x0+0-x10+0-x11+0-X12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-Xx25+0-x26+0-Xx27+0-x28 | 4 | 4 | 4| 4] 0] 0| 4|40 0 0 4 4 0 0 0 0 0 0 4 4 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4a+0-x5+0-x6+0-x7+0-x8+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-x19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-%x26+0-x27+0-x08| 4 4 4 4 2 2 4 2 0 0 2 0 0 2 4 2 2 2 4 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0
1T-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +1-x17+0-x18+0- X190 +0-Xx20+0-x21 +0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 4 | 4 | 4| 4]0 0] 4]0 4] 4 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 2 0 0 0 0 0 0 0 2 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-Xx13+0-x14a+0-x15+0-x16+0-x17+1-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x234+0-x24+0-x25+0-x26+0-Xxo7+0-x28| 4 | 4 | 4 | 4 [0 ]| 0| 4]0]O0 0 0 0 0 0 4 0 0 0 4 0 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 2 0 0 0 0
I-x1+0-x2+1-x3+0-xa+0-x54+0-x6+0-x7+0-Xxs+0-x9+0-x10+0-x11 +0-x12+0-x13+0-x14+0-Xx15+0-x16 +0-x17+0-x18 + 0- X190 +0-x20 + 0-Xx21 +0-x220 +0-Xx23+0-x2a +0-x25 +0-x26 +0-x27+0-x2s | 2 | 2 | 2 | 2 | 2 | 2 | 2 | 2| 2| 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 2 2 2 2 2 0 0 2 0 0 0
1-x1+1-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-x15+0-X16+0-x17+0-x18+0-X190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28| 2 | 2 | 2 |2 |0 ]| 0| 2] 0] 2 2 0 2 2 0 2 0 0 0 2 2 0 2 0 0 0 0 0 2 0 0 2 0 0 0 0 2 0 0 2 0 0
1-x14+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x08| 2 2 2 2 0 0 2 0 2 2 0 2 2 0 2 0 0 0 2 2 0 2 0 0 0 0 0 0 2 2 2 0 0 0 0 0 2 0 0 2 0
1-x14+0-x2+0-x3+0-x4+0-x5+0-Xx6+0-x7+0-xs+0-x90+0-Xx10+0-Xx11+0-x12+0-x13+0-x14+0-x15+0-X16+0-X17+0-x18+0-x19+0-x20+0-x21+0-X220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x286| 1 | 1 | 1T | 1T | 1T | 1| 1] 1]1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
P1 = Group([()]) = 1
Group([(L, 7)(2,12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 29) (10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47)(25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64)]) = C2
Group([(L,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42)(23, 44) (24, 46) (26, 48) (27, 49) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) = C2
Py = Group([(1,22)(2,32)(3, 38) (4, 41) (5, 42)(6, 7)(8, 48) (9, 51)(10, 52) (11, 12)(13, 55) (14, 56) (15, 16)(17, 57)(18, 19) (20, 21) (23, 60) (24, 61) (25, 26) (27, 62) (28, 29) (30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50)(53, 54) (58, 59)]) = C2
Group([(1,16)(2,26)(3, 7)(4, 55)(5, 37)(6, 38) (8, 12) (9, 60)(10, 47) (11, 48) (13, 41) (14, 21) (15, 22) (17, 63) (18, 35)(19, 34) (20, 56) (23, 51) (24, 31)(25, 32) (27, 64) (28, 45)(29, 44) (30, 61)(33, 57)(36, 42) (39, 54) (40, 53) (43, 62) (46, 52)(49, 59) (50, 53)]) = C2
Ps = Group([(1,3)(2,8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26) (13, 18) (17, 53)(19, 55) (20, 36)(21, 37) (22, 38)(23, 28)(27, 58)(29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61)(54, 57)(59, 62)]) = C2
Py = Group([(1,6)(2,11)(3, 15) (4, 18) (5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34)(14, 36) (16, 38) (17, 39)(19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51)(31, 52)(33, 53) (35, 55)(37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21)(6, 22) 8, 26)(9, 9)(10,31)(11,32)(13,35)(14,37)(15,38)(17, 40)(18, 41)(20, 42)(23, 45) (24, 47) (25, 48)(27, 50)(28, 51) (30, 52) (33, 4)(34 55)(36, 56)(39, 57) (43, 59) (44, 60) (46, 61)(49, 62)(53, 63) (58, 64)]) = C2 x C2
Group([(1,14,7,37)(2, 24, 12, 47)(3, 5, 16, 21) (4, 53, 19, 63)(6, 36, 22, 56) (8, 10, 26, 31)(9, 58, 29, 64) (11, 46, 32, 61)(13, 39, 35, 57) (15, 20, 38, 42) (17, 55, 40, 34) (18, 33, 41, 54) (23, 49, 45, 62) (25, 30, 48, 52) (27, 60, 50, 44) (28, 43, 51, 59), (1, 7)(2, 12) (3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31) (11, 32) (13, 35)(14, 37) (15, 38) (17, 40)(18, 41)(20, 42) (23, 45)(24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62)(53, 63) (58, 64)]) = C4
Py = Group([(1,5,7,21)(2,10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21)(6, 22)(8, 26)(9, 29) (10, 31)(11, 32) (13, 35)(14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) ==
Pro = Group([(1,20.7,42)(2, 30, 12, 52)(3, 36, 16, 56)(4, 39, 19, 57)(5, 22, 21, 6) (8, 46, 26, 61)(9, 49, 29, 62)(10, 32, 31, 11)(13, 53, 35, 63) (14, 38, 37, 15) (17, 41, 40, 18)(23, 58, 45, 64)(24, 48, 47, 25) (27, 51, 50, 28)(33, 55, 54, 34)(43, 60, 59, 44), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21) (6, 22)(8, 26)(9, 29) (10, 31) (11, 32)(13, 35) (14, 37) (15, 38)(17, 40)(18, 41) (20, 42)(23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (3 ,55)(36 56)(39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) =
Puy = Group([(1.3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38) (23, 28)(27, 58) (29, 60) (30, 46 (31, 47) (32, 48) (33, 30) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64)(52, 61)(54, 57)(59, 62), (1, 22) (2, 32) (3, 38) (4, 41)(5, 42) (6, 7) (8, 48)(9, 51)(10, 52)(11, 12)(13, 55)(14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62) (28, 20) (30, 31)(33, 63) (34, 35)(36,37)(39,40)(43,64)(44,45)(46,47)(49,50)(53,54)(58 59)]) & C2 x C2
Pio = Group([(1.4,6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5. 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 30)(19, 41)(21, 42) (23, 44)(24, 46) (26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55) (37, 56) (40, 57)(43, 53)(45, 60)(47, 61)(50, 62)(54, 63)(59, 64)]) = 04
Pis = Group([(1,19,6,41)(2,29, 11,51)(3,35, 15, 55)(4, 22, 18, 7)(5, 40, 20, 57)(8, 45, 25, 60) (9, 32, 28, 12) (10, 50, 30, 62)(13, 38, 34. 16)(14. 54, 36, 63) (17, 42, 39, 21)(23, 48, 44, 26) (24, 59, 46, 64) (27, 52, 49, 31)(33, 56, 53, 37) (43, 61, 58, 47), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8. 25)(9, 28)(10,30)(12, 32) (13, 34)(14, 36)(16, 38)(17, 39)(19, 41)(21, 42) (23, 44)(24. 46) (26, 48)(27, 49)(29. 51)(31. 52)(33. 53)(35. 55) (37, 56) (40, 57)(43, 53) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64)]) =
Pus = Group([(1,16)(2,26)(3, 7)(4, 55) (5, 37)(6, 38)(8, 12)(9, 60) (10, 47) (11, 48) (13, 41) (14, 21) (15, 22) (17, 63) (18, 35) (19, 34) (20, 56) (23, 51) (24, 31)(25, 32)(27, 64) (28, 45)(29, 44)(30, 61)(33, 57)(36, 42) (39, 54 (40, 53)(43, 62) (46, 52) (49, 59) (50, 58), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28) (10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42)(23, 44)(24, 46)(26, 48)(27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54. 6 )(59 64)]) = €2 x C2
Prs = Group([(1,17,22,57)(2, 27,32, 62)(3, 33, 38, 63) (4, 20, 41, 21) (5, 19, 42, 18)(6, 39, 7, 40) (8, 43, 48, 64)(9, 30, 51, 31) (10, 29, 52, 28) (11, 49, 12, 50) (13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59), (1, 22) (2, 32)(3, 38) (4, 41) (5, 42) (6, 7)(8, 48)(9, 51)(10, 52) (11, 12) (13, 55) (14, 56) (15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26)(27, 62)(28, 20)(30, 31)(33, 63) (34, 35)(36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54) (58, 59)]) = C
Prs = Group([(1,3)(2,8)(4,34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12 26)(13, 18)(17, 53)(19, 55)(20, 36) (21, 37)(22, 38) (23, 28) (27, 58) (29, 60) (30, 46)(31, 47) (32, 48) (33, 39) (35, 41)(40, 63)(42, 56)(43, 49)(45. 51)(50, 64)(52, 61) (54, 57)(59, 62). (1. 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34)(14, 36)(16, 38)(17, 39) (19, 41)(21, 42) (23, 44) (24, 46) (26, 48)(27, 49)(29, 51)(31, 52) (33, 53)(35, 55) (37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 3)(59 64)]) = C2 x C2
Py = Group([(1,3)(2,8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25) (12, 26) (13, 18)(17, 53) (19, 55) (20, 36) (21, 37) (22, 38) (23, 28)(27, 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63)(42, 56) (43, 49) (45, 51) (50, 64) (52, 61)(54, 57) (59, 62), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64)]) = C2 x C2
Prs = Group([(1,6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41) (21, 42) (23, 44)(24, 46) (26, 48) (27, 49)(29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 29)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1, 3)(2, 8) (4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18) (17, 53)(19, 55)(20, 36) (21, 37)(22, 38) (23, 28) (27, 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 30) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62)]) = C2 x C2 x C2
Pro = Group([(1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55) (37, 56 (40, 57)(43, 58)(45, 60) (47, 61)(50, 62) (54, 63)(59, 64). (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35) (14, 37) (15, 38) (17, 40)(18, 41)(20, 42)(23, 45)(24, 47)(25, 48)(27, 50)(28, 51)(30, 52)(33, 54 (34, 55 (36, 56) (39, 57) (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63)(4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 20, 52, 28) (11, 49, 12, 50)(13. 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44)(25, 58, 26, 59)]) = C4 x C2
Poo = Group([(1.6)(2, 11)(3. 15)(4, 18)(5,20)(7, 22)(8, 25)(9. 28)(10, 30)(12. 32) (13, 34)(14, 36)(16, 38) (17, 39)(19, 41)(21, 42) (23, 44)(24. 46) (26, 48)(27. 49)(29. 51)(31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45. 60)(47, 61)(50, 62) (54, 63) (59, 64). (1. 7)(2, 12)(3, 16)(4. 19) (5. 21)(6., 22)(8. 26)(9, 29) (10, 31)(11. 32)(13, 35) (14, 37) (15, 38)(17, 40)(18, 41) (20, 42)(23. 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56 (39 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63)(58, 64). (1, 4, 6, 18)(2, 9. 11, 28)(3, 13. 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23. 25. 44)(10, 27, 30, 49)(12. 29. 32, 51) (14, 33. 36. 53)(16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 53)(26. 45. 48, 60) (31, 50, 52, 62)(37. 54. 56, 63) (47 59. 61, 64)]) = C4 x C2
Por = Group([(1,6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25) (9, 28)(10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21) (6, 22)(8, 26)(9, 29)(10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45)(24, 47) (25, 48)(27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 14, 7, 37)(2, 24, 12, 47)(3, 5, 16, 21) (4, 53, 19, 63)(6, 36, 22, 56) 8, 0 26,31)(9, 58, 29, 64)(11, 46, 32, 61)(13, 39, 35, 57) (15, 20, 38, 42) (17, 55, 40, 34) (18, 33, 41, 54) (23, 49, 45, 62) (25, 30, 48, 52) (27, 60, 50, 44) (28, 43, 51, 59)]) = C4 x C2
Pay = Group([(1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 39)(19, 41)(21, 42)(23, 44)(24, 46) (26, 48) (27, 40) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64). (1. 7)(2, 12)(3, 16)(4. 19)(5. 21)(6, 22) (8, 26)(9, 20)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59)(44. 60) (46, 61)(49. 62)(53. 63)(58. 64). (1.5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4. 17,19, 40)(6,20,22,42)(8 4,26,47)(9,27,29,50)(11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64)]) = C4 x C2
Pos = Group([(1.3)(2,8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25) (12, 26) (13, 18) (17, 53) (19, 55) (20, 36) (21, 37) (22, 38) (23, 28) (27, 58)(29, 60 (30, 46 (31, 47)(32, 48)(33, 39)(35, 41)(40, 63)(42, 56 (43, 49) (45, 51)(50, 64)(52, 61)(54, 57)(59, 62). (1. 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63)(44, 58, 60, 64), (1, 7)(2, 12)(3, 16)(4, 10)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32)(13. 35) (14, 37)(15, 38) (17, 40)(18, 41)(20, 42)(23, 45)(24, 47)(25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64)]) = C4 x C2
Pos = Group([(1,3)(2,8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25) (12, 26) (13, 18) (17, 53) (19, 55) (20, 36) (21, 37) (22, 38) (23, 28) (27, 58) (29, 60) (30, 46 (31, 47) (32, 48) (33, 39)(35, 41)(40, 63)(42, 56 (43, 49) (45, 51)(50, 64)(52, 61)(54, 57)(59, 62). (1, 20,7, 42) (2, 30, 12, 52)(3, 36, 16, 56) (4, 39, 19, 57) (5, 22, 21, 6)(8, 46, 26, 61)(9. 49, 29, 62) (10,32, 31, 11)(13, 53, 35. 63)(14, 38, 37, 15)(17. 41, 40, 18)(23, 58, 45, 64)(24. 48, 47, 25) (27, 51. 50, 28) (33, 55, 54, 34)(43, 60, 59, 44), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6. 22)(8, 26)(9, 20)(10, 31)(11,32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47)(25. 48)(27, 50)(28. 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62)(53, 63) (53, 64)]) = C4 x 02
Pos = Group([(1.3)(2. 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12. 26) (13, 18)(17, 53)(19. 55) (20, 36)(21. 37)(22, 38) (23, 28) (27, 58) (29, 60 (30, 46) (31, 47)(32, 48)(33, 39) (35, 41)(40. 63) (42, 56 (43, 49)(45. 51)(50, 64)(52, 61) (54, 57)(59. 62). (1.4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44)(10. 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60)(31. 50. 52. 62) (37, 54, 56, 63)(47. 59, 61, 64). (1, 6)(2, 11)(3. 15)(4, 18)(5, 20)(7, 22)(8. 25)(9. 28) (10, 30)(12, 32) (13, 34) (14, 36)(16, 38) (17, 39) (19, 41)(21, 42)(23, 44) (24, 46)(26. 43) (27, 49)(29. 51)(31. 52)(33, 53)(35. 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62)(54 63)(59, 64)]) =
Pas = Group([(1,3)(2,8) (4, 34)(5, 14)(6, 15)(7, 16) (9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55) (20, 36) (21, 37) (22, 38) (23, 28) (27, 58)(29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61)(54, 57)(59, 62), (1, 19, 6,41)(2, 29, 11, 51)(3, 35, 15, 55) (4, 22, 18, 7) (5, 40, 20, 57) (8, 45, 25, 60)(9, 32, 28, 12) (10, 50, 30, 62) (13, 38, 34, 16) (14, 54, 36, 63) (17, 42, 39, 21)(23, 48, 44, 26) (24, 59, 46, 64) (27, 52, 49, 31)(33, 56, 53, 37) (43, 61, 58, 47), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28) (10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) =
Pyr = Group([(1, 16)(2, 26)(3, 7) (4, 55) (5, 37)(6, 38) (8, 12)(9, 60)(10, 47)(11, 48)(13, 41)(14, 21)(15, 22)(17, 63)(18, 35)(19, 34)(20, 56)(23, 51)(24, 31)(25, 32) (27, 64)(28, 45) (29, 44)(30, 61)(33, 57) (36, 42) (39, 54)(40, 53) (43, 62) (46, 52) (49, 59)(50. 58). (1. 4, 6, 18) (2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32. 51)(14. 33, 36, 53) (16, 35. 38, 55)(21, 40, 42, 57)(24. 43, 46, 58)(26. 45, 48, 60 (31, 50, 52, 62) (37, 54. 56, 63) (47, 59 61. 64). (1,6)(2, 11)(3. 15)(4, 18)(5. 20)(7. 22) (8, 25)(9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29. 51) (31, 52) (33, 53) (35, 55) (37. 56 (40, 57) (43, 58) (45, 60) (47, 61) (50, 62 )(54 63)(59, 64)]) =
Pos = Group([(1.2, 5, 10,7, 12,21, 31)(3, 23, 14, 43, 16, 45, 37. 59) (4, 28, 17, 49, 19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13. 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23. 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64). (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64)]) =
Pao = Group([(1.23, 17, 46,22, 60, 57, 47)(2, 33, 27, 38, 32, 63, 62, 3) (4, 25, 20, 58, 41, 26, 21, 59) (5, 43, 19, 48, 42, 64, 18, 8)(6, 44, 39, 24,7, 45, 40, 61)(9, 36,30, 55, 51, 37. 31, 13)(10, 35, 20, 56. 52, 34, 28, 14) (11, 53,49, 16, 12, 54, 50, 15, (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28)(11, 49, 12, 50)(13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59). (1, 22)(2, 32)(3, 38) (4, 41)(5, 42) (6, 7)(8, 48)(9, 51)(10, 52) (11, 12)(13, 55)(14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62) (28, 20) (30, 31)(33, 63) (34, 35) (36, 37) (30, 40) (43, 64) (44, 45) (46, 47)(49. 50) (53, 54) (58, 59)]) = C
Py = Group([(1,45, 17, 61,22, 44, 57, 24) (2, 54, 27, 15, 32, 53, 62, 16)(3, 12, 33, 50, 38, 11, 63, 49) (4, 48, 20, 64, 41, 8, 21, 43)(5, 59, 19, 25, 42, 58, 18, 26) (6, 60, 30, 47, 7, 23, 40, 46) (9, 56, 30, 34, 51, 14, 31, 35) (10, 13, 29, 36, 52, 55, 28, 37), (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31) (10, 20, 52, 28) (11, 49, 12, 50) (13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59), (1, 22) (2, 32) (3, 38) (4, 41) (5, 42) (6, 7)(8, 48)(9, 51)(10, 52) (11, 12) (13, 55) (14, 56) (15, 16)(17, 57) (18, 19) (20, 21)(23, 60) (24, 61)(25. 26)(27, 62) (28, 29) (30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54) (58, 59)]) =
Py = Group([(1,6)(2, 11)(3, 15)(4, 18)(5,20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34)(14, 36)(16, 38) (17, 39)(19, 41) (21, 42) (23, 44) (24, 46) (26, 48)(27, 49) (29, 51)(31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47, 61)(50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19) (5, 21)(6, 22)(8. 26)(9, 29) (10, 31) (11, 32)(13, 35)(14, 37) (15, 38)(17, 40)(18, 41)(20, 42)(23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62)(53, 63) (58, 64), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8. 23, 25, 44)(10, 27, 30, 49)(12. 29, 32, 51) (14, 33, 36, 53)(16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47 59,61,64), (1,5,7,21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64)]) = C4 x C4
Py = Group([(1,6)(2, 11)(3, 15)(4, 18)(5,20)(7, 22)(8, 25)(9. 28)(10, 30)(12, 32) (13, 34)(14, 36)(16, 38) (17, 39)(19, 41) (21, 42) (23, 44)(24. 46) (26, 48) (27, 49)(29, 51)(31,52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47, 61)(50, 62) (54, 63) (59, 64), (1. 7)(2, 12)(3, 16)(4. 19) (5, 21)(6, 22)(8, 26)(9, 29)(10, 31) (11, 32)(13, 35)(14, 37) (15, 38)(17, 40)(18, 41)(20, 42)(23. 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56 (39, 57) (43, 59) (44, 60 (46, 61) (49, 62) (53, 63)(58, 64 (1, 3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26)(13, 18) (17, 53)(19, 55)(20, 36) (21, 37) (22, 38) (23, 28)(27, 53)(29, 60)(30, 46 (31, 47) (32, 48)(33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64)(52, 61)(54, 57) (59, 62), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52)(13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63)(44, 58, 60, 64)]) = C4 x C2 x C2
Pys = Group([(1.6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42)(23, 44) (24, 46 (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55)(37, 56 (40, 57)(43, 58) (45, 60)(47, 61)(50, 62) (54, 63)(59, 64). (1. 7)(2, 12)(3. 16) (4, 19) (5, 21)(6, 22)(8. 26)(9, 29) (10, 31)(11, 32) (13, 35) (14, 37) (15, 38) (17, 40)(18, 41)(20, 42)(23, 45)(24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1. 3)(2. 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28)(27, 58)(29, 60) (30, 46) (31, 47)(32, 48)(33, 30) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61)(54, 57)(59, 62). (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32, 51)(14. 33, 36, 53) (16, 35. 38, 55) (21, 40, 42, 57) (24, 43, 46, 58)(26, 45, 48, 60) (31 50, 52, 62) (37, 54. 56. 63)(47, 59, 61, 64)]) = C2 x D8
Pyy = Group([(1,6)(2,11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41) (21, 42) (23, 44)(24, 46) (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29) (10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1, 14,7, 37)(2, 24, 12, 47) (3, 5, 16, 21) (4, 53, 19, 63)(6, 36, 22, 56) (8, 10, 26, 31)(9, 58, 29, 64)(11, 46, 32, 61)(13, 39, 35, 57) (15, 20, 38, 42)(17, 55, 40, 34) (18, 33, 41, 54) (23, 49, 45, 62) (25, 30, 48, 52)(27, 60, 50, 44) (28, 43, 51 59) (1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C4 : C4
Pys = Group([(1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 5) (37, 56 (40, 57)(43, 58) (45, 60)(47, 61)(50, 62) (54, 63)(59, 64). (1.7)(2, 12)(3, 16)(4, 19) (5, 21)(6, 22)(8. 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64), (1, 3)(2, 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24)(11, 25)(12, 26)(13, 18) (17, 53) (19, 55)(20, 36) (21, 37)(22, 38)(23, 28)(27, 58)(29, 60) (30, 46 (31, 47) (32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64 (52, 61) (54, 57)(59, 62), (1, 17, 22, 57)(2, 27, 32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 20, 52, 28) (11, 49, 12, 50)(13, 36, 55, 37) (14, 35, 56, 34)(15, 53, 16, 54) (23, 46, 60, 47)(24, 45, 61, 44)(25, 58, 26, 59)]) = (C4 x C2) : C2
Py = Group([(1,6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25) (9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53)(35,55)(37, 56)(40. 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1.7)(2. 12) (3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9. 20)(10, 31)(11. 32) (13, 35)(14, 37)(15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47)(25, 48)(27. 50) (28, 51)(30, 52) (33, 54) (34, 55)(36. 56) (39, 57 (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1.2,5, 10,7, 12,21, 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17, 49, 19, 51,40, 62)(6, 11, 20, 30, 22, 32. 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41,29, 57, 50, 18) (15, 44, 36, 53, 38, 60, 56, 64)(25, 53, 46, 55, 48. 63, 61, 34), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52)(13, 33, 35, 54) (15. 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 50) (25. 46, 48, 61) (28, 49, 51, 62)(34, 53, 55, 63)(44, 58, 60, 64)]) = C8 x C2
Py = Group([(1,6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25) (9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50,62)(54,63)(59,64),(177)(2,12)(3,16)(4,19)(5,21)(6,22)(8,26)(9,29)(10,31)(11 32)(13,35)(14, 37)(15, 38) (17, 40)(18, 41)(20, 42) (23, 45) (24, 47)(25, 48) (27, 50)(28. 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57) (43, 59) (44, 60) (46, 61) (49, 62)(53. 63)(58, 64). (1,23, 17, 46, 22. 60, 57, 47)(2. 33, 27, 38, 32. 63, 62, 3) (4, 25, 20, 58, 41, 26, 21, 50) (5, 43, 19, 48, 42, 64, 18, 8)(6, 44, 39, 24, 7, 45. 40, 61)(9, 36, 30, 5. 51, 37, 31, 13) (10, 35,29, 56. 52. 34. 28. 14)(11, 53,49, 16, 12, 54,50, 15). (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64) (9, 30, 51, 31)(10, 29, 52, 28) (11, 49, 12. 50)(13, 36, 55, 37)(14, 35, 56, 34) (15, 53, 16, 54)(23. 46, 60, 47) (24, 45, 61, 44)(25. 58, 26, 59)]) = C8 x C2
Pus = Group([(1,6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25) (9, 28)(10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40)(18, 41)(20, 42)(23, 45)(24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1, 4,6, 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 20, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42) (8, 24, 26, 47) (9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 30, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62)(34, 53, 55, 63) (44, 58, 60, 64), (1, 3)(2, 8)(4, 34)(5, 14) (6, 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26) (13, 18) (17, 53) (19, 55)(20, 36) (21, 37) (22, 38)(23, 28) (27, 58)(29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62)]) = C4 x D8
Pyo = Group([(1,6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8. 25)(9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46 (26, 48)(27, 49)(29, 51)(31, 52 (33, 53)(35, 55)(37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1, 7)(2. 12)(3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37) (15, 38)(17, 40)(18, 41)(20, 42)(23, 45)(24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55 (36, 56) (39, 57) (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1. 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7. 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31 50, 52, 62) (37, 54, 56. 63)(47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27,29, 50)(11, 30, 32, 52) (13. 33, 35, 54)(15, 36, 38, 56)(18, 39, 41, 57) (23, 43, 45, 59)(25, 46, 48, 61)(28, 49, 51, 62) (34, 53. 55, 63) (44, 58, 60, 64). (1.2, 5, 10,7, 12,21, 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17,49, 19, 51, 40, 62) (6, 11,20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18)(15, 44, 36, 53, 38, 60, 56, 64)(25, 53, 46, 55, 48, 63, 61,34)]) = C4 : 8
Pao = Group([(1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46)(26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55)(37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 7)(2. 12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37) (15, 38)(17, 40)(18, 41)(20, 42)(23, 45)(24, 47)(25, 48)(27, 50(28, 51)(30, 52) (33, 54) (34, 55 (36, 56) (39, 57) (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1.4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23. 25, 44) (10, 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 5,7, 21)(2, 10,12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56)(18, 39, 41, 57) (23, 43, 45, 59)(25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1,23, 17, 46, 22, 60, 57, 47)(2, 33, 27, 38, 32. 63, 62, 3) (4, 25, 20, 58, 41, 26, 21, 59) (5, 43, 19, 48, 42, 64, 18, 8) (6, 44, 39, 24, 7, 45, 40, 61)(9, 36. 30, 55, 51. 37, 31, 13)(10, 35, 20. 56, 52, 34, 28, 14)(11, 53, 49, 16, 12, 54, 50, 15)]) = C8 x C4
Pay = Group([(1.6)(2, 11)(3. 15)(4, 18)(5,20)(7, 22)(8, 25)(9. 28)(10, 30)(12. 32) (13, 34)(14, 36)(16, 38) (17, 39) (19, 41)(21, 42 (23, 44)(24. 46)(26, 48)(27. 49)(29. 51)(31,52)(33, 53) (35, 55) (37, 56) (40, 57) (43 53) (45. 60)(47, 61)(50, 62) (54, 63)(59. 64). (1. 7)(2, 12)(3, 16)(4. 19) (5. 21) (6, 22)(8, 26)(9, 29) (10, 31) (11, 32)(13, 35)(14, 37) (15, 38) (17, 40)(18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54)(34. 55) (36, 56 (39, 57) (43, 59)(44, 60) (46, 61) (49, 62) (53, 63)(58, 64). (1, 4.6, 18)(2, 9. 11, 28)(3. 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8. 23. 25. 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33. 36. 53)(16. 3. 38, 55)(21, 40, 42, 57) (24, 43, 46, 53)(26. 45. 48, 60)(31, 50, 52, 62)(37. 54, 56, 63) (47. 59. 61, 64), (1. 5, 7. 21)(2. 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6. 20, 22. 42) (8. 24. 26. 47)(9. 27. 29. 50)(11. 30. 32. 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41. 57)(23. 43, 45. 59) (25, 46, 48, 61) (28, 49. 51, 62)(34. 53. 55. 63)(44, 58, 60, 64). (1.3)(2, 8)(4, 34) (5. 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25) (12, 26)(13, 18) (17, 53) (19, 55)(20, 36)(21, 37) (22, 38) (23, 28)(27, 58)(29, 60)(30, 46)(31, 47) (32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61)(54, 57)(59, 62), (1, 2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51,40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41,29, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34)]) = (C8 x C4) : (2
Group([(1,2,5,10,7,12,21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 53, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25) (12, 26) (13, 18) (17, 53)(19, 55)(20, 36) (21, 37)(22, 38) (23, 28) (27, 58) (29, 60)(30, 46) (31, 47)(32, 48)(33, 30) (35, 41)(40, 63) (42, 56)(43, 49) (45, 51)(50, 64) (52, 61) (54, 57) (59, 62), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41) (8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22) (8, 25)(9, 28)(10, 30) (12, 32) (13, 34) (14, 36)(16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55)(37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12) (3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 20)(10, 31)(11, 32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) = ((C4 : C8) : C2
Ny = Group([(1,2,5,10,7,12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24)(11, 25)(12, 26)(13, 18)(17, 53) (19, 55)(20, 36) (21, 37) (22, 38)(23, 28) (27, 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 30) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53) (26, 45, 48, 60 (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22) (8, 25)(9, 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42) (23, 44) (24, 46)(26, 48) (27, 49) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21) (6, 22) (8, 26)(9, 29)(10, 31)(11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47) (25, 48)(27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64)]) = ((C4 : C8) : C2) :
Ny = Group([(1,2,5,10,7,12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16) (9, 44) (10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36) (21, 37) (22, 38) (23, 28) (27, 58) (29, 60) (30, 46) (31, 47) (32, 48)(33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57)(59, 62), (1,4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19,22 41)(8, 23.25,44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 53) (26, 45, 48, 60) (31, 50, 52. 62) (37, 54. 56, 63) (47, 59, 61, 64, (1. 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52)(13, 33, 35, 54)(15. 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34,53, 55, 63) (44, 58, 60, 64), (1. 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34)(14, 36)(16, 38)(17, 39)(19, 41)(21, 42) (23, 44)(24. 46)(26, 43)(27, 49)(29. 51)(31. 52)(33. 53)(35. 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6. 22)(8, 26)(9, 20)(10, 31)(11,32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45)(24. 47)(25. 48)(27, 50)(28. 51) (30, 52)(33. 54)(34. 55)(36, 56) (39, 57)(43, 59) (44, 60)(46, 61)(49, 62)(53, 63) (58, 64)]) = ((C4 : C8) : C2
Ny = Group([(1,2,5,10.7,12,21,31)(3, 23, 14,43, 16, 45, 37, 59)(4, 28, 17,49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24. 35, 26, 54, 47, 13)(9. 39, 27, 41,29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4. 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38) (23, 28)(27, 58)(29. 60) (30, 46)(31, 47) (32, 48) (33, 30) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57) (59, 62), (1, 4, 6, 18)(2.9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30 49)(12,29 32.51)(14. 33,36, 53)(16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 53)(26. 45, 48, 60) (31, 50, 52, 62) (37. 54 56, 63) (47, 59, 61. 64). (1. 5,7, 21)(2, 10, 12, 31)(3. 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8. 24. 26, 47) (9. 27 20.50)(11. 30, 32. 52)(13, 33, 35, 54)(15, 36, 38, 56 (18, 39, 41, 57)(23,43,45 59)(25 46,48,61)(28 49,51, 62)(34, 53, 55, 63)(44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42) (23, 44) (24, 46)(26, 48) (27, 49)(29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21) (6, 22) (8, 26)(9, 29)(10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45)(24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) = ((C4 : C8) : C2
Ny = Group([(1.16)(2, 26)(3,7)(4, 55) (5, 37)(6, 38)(8, 12)(9, 60) (10, 47) (11, 48)(13, 41)(14, 21) (15, 22)(17, 63) (18, 35) (19, 34) (20, 56) (23, 51)(24, 31)(25, 32)(27, 64)(28, 45) (29, 44)(30, 61)(33, 57) (36, 42) (39, 54)(40, 53)(43, 62) (46, 52)(49, 59) (50, 58), (1, 3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26)(13, 18) (17, 53)(19, 55)(20, 36) (21, 37) (22, 38) (23, 28) (27, 53) (29, 60)(30, 46 (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 40) (45, 51) (50, 64) (52, 61)(54, 57) (59, 62), (1, 5, 7, 21)(2, 10,12, 31) (3. 14 16,37)(4, 17,19, 40)(6. 20, 22, 42)(8, 24, 26, 47 )(9,27,29,50)(11,30,32,52)(13,33,35,54)(15,36,38,56)(18,39,41,57)(23,43,45,59)(25,46,48,61)(28,49,51,62)(34,53 55, 63)(44. 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32)(13, 34)(14, 36) (16, 38) (17, 30)(19, A1) (21, 42) (23, 44)(24, 46) (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56)(40, 57) (43, 58) (45, 60)(47, 61) (50, 62) (54. 63)(59, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 20) (10, 31)(11, 32)(13, 35) (14, 37) (15, 38)(17, 40) (18, 41)(20, 42)(23, 45 (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 601 (46, 61)(49, 62) (53, 63) (58, 64)]) = C4 x C2 x C2
Group([(1,3)(2,8)(4, 34)(5, 14)(6, 15)(7, 16)(9,44)(10 24)(11 25)(12,26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37) (22, 38) (23, 28) (27, 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61)(54, 57)(59, 62), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 20, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 30, 41, 57) (23, 43, 45, 59)(25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36)(16 38)(17,39)(19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21)(6, 22)(8, 26)(9 29)(10.31)(11,32)(13, 35) (14, 37)(15, 38)(17, 40) (18, 41)(20, 42) (23, 45) (24, 47)(25. 43)(27, 50)(28. 51)(30, 52)(33, 54)(34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49 ,62)(53,63)(58,6 ))) 2 C4 x C2 x €2
Ny = Group([(1,7)(2,12)(3, 16)(4, 19)(5, 21)( 22)(8, 26)(9,29)(10,31)(11, 32)(13, 35) (14, 37)(15, 38)(17, 40) (18, 41)(20, 42) (23, 45)(24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28)(10, 30) (12, 32)(13, 34)(14, 36) (16, 38)(1 739)( 0,41)(21,42)(23, 44)(24, 46)(26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17,49, 19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41,29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18) (17, 53) (19, 55)(20, 36) (21, 37) (22, 38) (23, 28)(27, 53) (29, 60) (30, 46) (31, 47) (32, 48) (33, 30) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62)]) = (C : C8) : C2
Group([(1,14,7,37)(2, 24, 12,47)(3, 5, 16, 21) (4. 53, 19, 63)(6, 36, 22, 56)(8, 10, 26, 31)(9, 58, 20, 64)(11, 46, 32, 61)(13, 39, 35, 57) (15, 20, 38, 42)(17, 55, 40, 34) (18, 33, 41, 54) (23, 49, 45, 62) (25, 30, 48, 52)(27, 60, 50, 44) (28, 43, 51,59), (1, 7)(2, 12) (3, 16)(4, 19)(5, 21) (6, 22)(8, 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56 (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1, 3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25) (12, 26) (13, 18) (17, 53) (19, 55) (20, 36) (21, 37) (22, 38) (23, 28) (27. 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57)(59, 62), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, )(9 8)(10 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) = C4 x C2 x C2
Group([(1,5,7,21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40) (6, 20, 22, 42) (8, 24. 26, 47)(9, 27, 20 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 30, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64). (1. 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 4 )(23,45)(24, 47)(25, 48)(27, 50)(28, 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1,2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4, 34)(5, 14)(6, 15) (7, 16)(9, 44) (10, 24) (11, 25)(12, )(1 18)(17,53)(19, 55)(20, 36) (21, 37)(22, 38)(23, 28)(27, 58)(29, 60) (30, 46) (31, 47)(32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57)(59, 62)]) = (C4 : C8) : C2
Nio = Group([(1,20.7,42)(2, 30, 12, 52)(3, 36, 16, 56)(4, 39, 19, 57)(5, 22, 21, 6) (8, 46, 26, 61)(9, 49, 29, 62)(10, 32, 31, 11)(13, 53, 35, 63) (14, 38, 37, 15) (17, 41, 40, 18)(23, 58, 45, 64)(24, 48, 47, 25)(27, 51, 50, 28) (33, 55, 54, 34)(43, 60, 59, 44, (1, 7)(2, 12)(3, 16)(4, 19)(5, 21) (6, 22)(8, 26)(9, 29) (10, 31) (11, 32)(13, 35) (14, 37) (15, 38)(17, 40)(18, 41) (20, 42)(23, 45) (24, 47) (25, 48) (27, 50)(28, 51) (30, 52) (33, 54)(34, 55 (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62)(53, 63) (58, 64), (1, 2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17,49, 19, 51,40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41,29, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24)(11, 25)(12, 26) (13, 18)(17, 53)(19, 55)(20, 36) (21, 37)(22, 38) (23, 28) (27, 58)(29, 60) (30, 46) (31, 47) (32, 48)(33, 30) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64)(52, 61) (54, 57)(59, 62)]) = (C4 : C8) : C2
Ni1 = Group([(1,22)(2,32)(3,38) (4, 41)(5, 42) (6. 7)(8, 48)(9, 51)(10, 52) (11, 12)(13, 55)(14, 56)(15, 16) (17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62)(28, 20)(30, 31)(33, 63) (34, 35)(36, 37)(39, 40) (43, 64) (44, 45) (46, 47)(49, 50) (53, 54)(58, 59), (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25) (12, 26)(13, 18)(17, 53) (19, 55)(20, 36)(21, 37) (22, 38) (23, 28) (27, 58)(29, 60) (30, 46) (31, 47)(32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57)(59, 62), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56)(18, 39, 41, 57) (23, 43, 45, 59)(25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 53, 60, 64)]) = C4 x C2 x C2
Nis = Group([(1.4, 6, 18)(2,9, 11,28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16, 35, 38, 55) (21, 40. 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34)(14, 36)(16, 38)(17, 30)(19, 41)(21, 42) (23, 44)(24, 46)(26, 43)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55) (37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62)(54, 63)(59, 64), (1,2, 5, 10, 7, 12,21, 31)(3, 23. 14, 43, 16, 45, 37, 59)(4, 28, 17,49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24 35, 26, 54, 47, 13) (9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64)(25, 53, 46, 55, 48,63, 61, 34). (1, 3)(2, 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19 )( ,36)(21, 37)(22, 38)(23, 28)(27, 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62)]) = (C4 : C8) : C2
Nis = Group([(1,19,6,41)(2, 29, 11, 51)(3, 35, 15, 55) (4, 22, 18, 7)(5, 40, 20, 57) (8, 45, 25, 60)(9, 32, 28, 12)(10, 50, 30, 62) (13, 38, 34, 16) (14, 54, 36, 63) (17, 42, 39, 21)(23, 48, 44, 26)(24, 59, 46, 64) (27, 52, 49, 31)(33, 56, 53, 37)(43, 61, 58, 47), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22) (8, 25)(9, 28)(10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42)(23, 44) (24, 46) (26, 48)(27, 49) (29, 51) (31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1,2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17,49, 19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 20, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18) (17, 53)(19, 55)(20, 36) (21, 37)(22, 38) (23, 28) (27, 58) (29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62)]) = (C4 : C8) : C2
Nus = Group([(1,6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52) (33, 53) (35, 55) (37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1, 16)(2, 26)(3, 7) (4, 55) (5, 37)(6, 38)(8, 12)(9, 60) (10, 47) (11, 48) (13, 41)(14, 21)(15, 22) (17, 63) (18, 35) (19, 34)(20, 56)(23, 51)(24, 31)(25, 32)(27, 64)(28, 45)(29, 44) (30, 61)(33, 57)(36, 42)(39, 54 (40, 53) (43, 62) (46, 52) (49, 50) (50, 58), (1, 3)(2, 8) (4, 34) (5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26)(13, 18)(17, 53) (19, 55)(20, 36) (21, 37)(22, 38)(23, 28)(27, 58)(29, 60) (30, 46) (31, 47)(32, 48) (33, 30) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61)(54, 57)(59, 62), (1,4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27. 30, 49)(12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56)(18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62)(34, 53, 55, 63) (44, 58, 60, 64)]) = C4 x DS
Nis = Group([(1, 17,22, 57)(2,27, 32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 20, 52, 28)(11, 49, 12, 50) (13, 36. 55, 37)(14, 35, 56, 34) (15, 53, 16, 54) (23, 46, 60, 47) (24, 45. 61, 44)(25, 58, 26, 59), (1, 22)(2, 32)(3, 38) (4, 41)(5, 42) (6, 7)(8, 48)(9, 51) (10, 52) (11, 12)(13, 55) (14, 56) (15, 16)(17, 57)(18, 19)(20, 21)(23, 60)(24, 61)(25, 26)(27, 62) (28, 29) (30, 31)(33, 63)(34, 35)(36, 37) (39, 40)(43, 64) (44, 45) (46, 47)(49, 50)(53, 54) (58, 59), (1, 4. 6, 18) (2, 9, 11, 28)(3. 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51) (14, 33, 36. 53)(16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 8, 39, 58, 22, 18, 40, 59)(2, 14, 49, 55, 32, 56, 50, 13)(3, 28, 53, 30, 38, 20, 54. 31)(4, 23, 5, 24, 41, 60,42, 61)(6, 25, 17, 43, 7, 26, 57, 64)(9, 33,10, 16, 51, 63, 52, 15)(11, 36, 27, 35, 12, 37, 62, 34) (18, 44, 20, 46, 19, 45, 21, 47)]) = C8 x C4
Nig = Group([(1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32)(13, 34)(14, 36) (16, 38) (17, 30)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47, 61)(50, 62) (54, 63)(59, 64), (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25) (12, 26)(13, 18)(17, 53) (19, 55)(20, 36)(21, 37) (22, 38)(23, 28) (27, 58)(29, 60) (30, 46)(31, 47)(32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49)(45, 51)(50, 64) (52, 61) (54, 57)(59, 62), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25. 44)(10, 27, 30, 49)(12, 29, 32, 51)(14, 33, 36, 53)(16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58)(26, 45, 48, 60)(31, 50, 52, 62)(37, 54, 56, 63) (47, 59, 61, 64), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 50) (25, 46, 48, 61) (28, 49, 51, 62)(34, 53, 55, 63)(44, 58, 60, 64)]) = C4 x D8
Niz = Group([(1.7)(2,12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9. 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64). (1. 3)(2. 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28)(27, 58)(29, 60 (30, 46) (31, 47)(32, 48)(33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61)(54, 57)(59, 62). (1. 5, 7. 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9. 27,29, 50)(11, 30, 32, 52)(13. 33, 35, 54) (15, 36, 38, 56 (18, 39, 41, 57)(23, 43, 45. 59)(25., 46, 48, 61) (28,49, 51, 62) (34, 53, 55. 63)(44. 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) = C4 x C2 x C2
Nis = Group([(1,3)(2,8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25) (12, 26) (13, 18) (17, 53) (19, 55)(20, 36 (21, 37) (22, 38)(23, 28) (27, 58)(29, 60) (30, 46) (31, 47) (32, 48) (33, 39)(35, 41)(40, 63)(42, 56 (43, 49) (45, 51)(50, 64)(52, 61)(54, 57)(59, 62). (1. 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9. 29)(10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64). (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39)(19, 41) (21, 42)(23, 44)(24, 46)(26, 48)(27, 49 (29, 51)(31, 52) (33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1,4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47 59,61,64), (1,5,7,21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50) (11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64)]) = C4 x D8
Nio = Group([(1, 17,22, 57)(2, 27, 32, 62)(3. 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40) (8, 43, 48, 64)(9, 30, 51, 31)(10, 20, 52, 28) (11,49, 12, 50) (13, 36. 55, 37)(14, 35, 56, 34)(15, 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47)(25, 48)(27, 50)(28, 51)(30, 52)(33, 54) (34, 55)(36, 56)(39, 57)(43, 59) (44, 60)(46, 61)(49, 62)(53, 63)(58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 30)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55)(37, 56) (40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 2, 5, 10, 7, 12, 21, 31)(3. 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24. 35, 26, 54, 47, 13)(9, 39, 27, 41, 20, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64)(25, 53, 46, 55. 48, 63, 61, 34). (1, 3)(2, 8) (4, 34)(5, 14)(6, 15)(7. 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36 (21, 37)(22, 38) (23, 28) (27, 58)(29, 60) (30, 46) (31, 47) (32, 48) (33, 30) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57)(59, 62)]) = (C4 : C8) : C2
Nao = Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 30)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16. 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 7)(2, 12)(3, 16)(4. 19)(5, 21)(6. 22)(8, 26)(9, 20)(10, 31)(11,32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47)(25. 48)(27, 50)(28. 51) (30, 52)(33. 54)(34. 55)(36. 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62)(53, 63) (58, 64), (1, 6)(2, 11)(3, 15) (4. 18)(5, 20)(7, 22)(8. 25)(9, 28)(10,30)(12, 32)(13, 34)(14, 36)(16, 38)(17,30)(19, 41) (21, 42) (23, 44)(24. 46) (26, 48) (27, 49)(29, 51) (31, 52)(33, 53) (35, 55) (37, 56) (40, 57)(43. 58) (45, 60) (47, 61) (50, 62) (54, 63)(59, 64), (1, 2. 5, 10, 7. 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 20, 57, 50, 18) (15, 44, 36, 53, 38, 60, 56, 64)(25. 53, 46, 55, 48, 63, 61, 34), (1 3)(2,8)(4,34)(5, 14)(6, 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26)(13, 18)(17, 53) (19, 55) (20, 36) (21, 37)(22, 38) (23, 28) (27, 53) (29, 60) (30, 46) (31, 47) (32, 48)(33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61)(54, 57) (59, 62)]) = (C4 : C8) : C2
Notw = Group([(1,14,7,37)(2, 24, 12, 47)(3, 5, 16, 21) (4, 53, 19, 63) (6, 36, 22, 56)(8, 10, 26, 31)(9, 58, 29, 64) (11, 46, 32, 61)(13, 39, 35, 57) (15, 20, 38, 42) (17, 55, 40, 34) (18, 33, 41, 54) (23, 49, 45, 62) (25, 30, 48, 52) (27, 60, 50, 44) (28, 43, 51, 59), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21)(6, 22) (8, 26)(9, 29) (10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36,56)(39,57)(43 59)(44. 60) (46, 61)(49, 62)(53, 63)(58, 64). (1.6)(2, 11)(3, 15)(4, 18)(5. 20)(7. 22)(8. 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38)(17, 30)(19, 41) (21, 42)(23, 44)(24, 46) (26, 48)(27. 49)(29, 51)(31. 52) (33, 53)(35, 55)(37, 56 (40, 57) (43, 58) (45, 60 (47. 61) (50, 62) (54, 63)(59, 64 (1, 3)(2, 8)(4, 34)(5. 14)(6. 15)(7, 16)(9, 44) (10, 24) (11, 25)(12, 26) (13, 18)(17, 53)(19, 55)(20, 36) (21, 37) (22, 38) (23, 28) (27, 53)(29, 60) (30, 46) (31, 47) (32, 48) (33, 30) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64)(52, 61)(54, 57)(59, 62), (1,4, 6. 18)(2.9, 11, 28)(3, 13, 15. 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30,49)(12 29 32,51)(14,33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C4 x D8
Noo = Group([(1,5,7,21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50) (11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 53, 60, 64), (1,7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 29)(10, 31)(11, 32)(13, 35) (14, 37)(15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 30) (19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1,2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45 37, 59)( 98,17, 49, 19, 51,40, 62)(6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 20, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8) (4, 34) (5, 14)(6, 15)(7 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18) (17, 53)(19, 55)(20, 36) (21, 37)(22, 38)(23, 28)(27, 58) (29, 60)(30, 46) (31, 47) (32, 48)(33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61)(54, 57) (59, 62)]) 2= (C4 : C8) : C2
Nas = Group([(1,5,7,21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56)(18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22) (8, 26)(9, 20) (10, 31) (11, 32)(13, 35)(14, 37) (15, 38) (17, 40)(18, 41) (20, 42)(23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (55, 64). (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18)(17. 53)(19, 55)(20, 36) (21, 37) (22, 38) (23, 28)(27, 53) (29, 60) (30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62), (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9. 28)(10, 30) (12, 32)(13, 34) (14, 36)(16, 38) (17, 39) (19, 41)(21, 42)(23, 44) (24, 46) (26, 43)(27, 49) (29, 51)(31, 52) (33, 53)(35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64)]) = C4 x C2 x C2
Nox = Group([(1,20,7,42)(2, 30, 12, 52)(3, 36, 16, 56)(4, 39, 19, 57) (5, 22, 21, 6)(8. 46, 26, 61)(9, 49, 29, 62) (10,32, 31, 11)(13, 53, 35. 63)(14. 38, 37, 15) (17, 41, 40, 18)(23, 58, 45, 64)(24. 48, 47, 25)(27, 51. 50, 28) (33, 55, 54, 34)(43, 60. 59, 44), (1, 7)(2, 12)(3, 16)(4. 19)(5, 21)(6. 22)(8, 26)(9, 20)(10, 31)(11,32)(13, 35)(14, 37)(15. 38)(17, 40)(18. 41)(20, 42)(23, 45) (24, 47)(25. 48) (27, 50)(28. 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (53, 64), (1, 3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26) (13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28)(27, 58)(29. 60)(30, 46) (31, 47)(32, 48)(33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57)(59. 62), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 50) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53. 55, 63) (44, 58, 60, 64)]) = C4 x C2 x C2
Nas = Group([(1.4,6,18)(2, 9, 11,28)(3, 13, 15, 34) (5, 17, 20, 30)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16. 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 15)(2, 25)(3, 6) (4, 13)(5, 36)(7, 38)(8, 11)(9, 23)(10, 46)(12, 48)(14, 20)(16,22)(17, 33)(18. 34)(19, 35)(21. 56) (24, 30)(26,32)(27, 43)(28,44)(29, 45)(31, 61) (37, 42)(39, 53) (40, 54) (41, 55) (47, 52) (49, 58)(50, 59) (51, 60)(57, 63)(62,64), (1, 3)(2,8)(4, 34)(5, 14)(6. 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26) (13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28)(27, 58)(29. 60) (30, 46) (31, 47)(32, 48)(33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57)(59, 62), (1, 2, 5, 10, 7,12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 20, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64)(25, 53, 46, 55, 48, 63, 61,34)]) = (C4 : C8) : C2
Nog = Group([(1.19,6,41)(2, 29, 11,51)(3, 35, 15, 55)(4, 22, 18, 7)(5, 40, 20, 57) (8, 45, 25, 60)(9. 32. 28, 12)(10. 50. 30. 62)(13, 38, 34, 16)(14, 54, 36, 63) (17, 42, 39, 21)(23. 48, 44, 26) (24, 59, 46, 64) (27, 52, 49. 31)(33. 56. 53, 37)(43, 61,58, 47). (1, 15)(2. 25)(3. 6)(4, 13)(5. 36)(7. 38) (8. 11)(9, 23) (10, 46) (12, 48) (14, 20)(16, 22) (17, 33)(18, 34) (19, 35) (21, 56)(24. 30) (26, 32) (27, 43)(28. 44)(29, 45) (31, 61) (37, 42)(39, 53)(40, 54) (41, 55) (47, 52) (49, 58) (50 59) (51 60)(57, 63)(62, 64 (1, 3)(2. 8)(4, 34)(5. 14)(6. 15)(7. 16)(9, 44) (10, 24) (11, 25)(12, 26) (13, 18)(17. 53)(19, 55)(20, 36)(21. 37)(22, 38)(23, 28) (27. 53)(29. 60) (30, 46 (31 47) (32, 48) (33, 30 (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64)(52, 61)(54. 57)(59. 62). (1. 4, 6. 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 5,7, 21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27,29, 50 (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56)(18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64)]) = C4 x DY
Naz = Group([(1.4,6,18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27. 30, 49) (12, 29, 32. 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24. 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54. 56. 63)(47, 59, 61, 64). (1. 38) (2, 48)(3, 22)(4, 35)(5, 56)(6, 16)(7, 15)(8, 32)(9. 45)(10. 61)(11, 26)(12, 25) (13, 19)(14, 42)(17, 54) (18, 55)(20, 37)(21, 36)(23, 29)(24. 52) (27, 50) (28, 60)(30,47)(31 16)(33,40) (34, 41)(39, 63)(43, 50) (44, 51)(49, 64) (53, 57)(58, 62). (1. 16)(2, 26)(3, T)(4, 55) (5, 37)(6, 38) (8, 12)(9, 60) (10, 47) (11, 48)(13, 41) (14, 21) (15, 22)(17, 63)(18, 35) (19, 34)(20, 56)(23, 51) (24, 31)(25. 32) (27, 64)(28, 45) (29, 44)(30, 61)(33, 57) (36, 42)(39, 54)(40, 53) (43, 62) (46, 52)(49, 50)(50, 58, (1, 2. 5, 10,7, 12, 21,31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41,29, 57, 50, 18)(15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34)]) = (C4 : C8) : (2
Nos = Group([(1.2,5, 10,7, 12,21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26. 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27. 29, 50) (11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 50) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 7)(2, 12)(3, 16)(4, 19) (5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38) (17, 30)(19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51)(31,52) (33, 53)(35, 55) (37, 56) (40, 57)(43, 58)(45, 60)(47, 61)(50, 62) (54, 63)(59, 64)]) = C8 x C2
Nao = Group([(1,23, 17, 46,22, 60, 57, 47)(2, 33,27, 38, 32, 63, 62, 3) (4, 25, 20, 58, 41, 26, 21, 59) (5, 43, 19, 48, 42, 64, 18, 8)(6, 44, 39, 24,7, 45, 40, 61)(9, 36,30, 55, 51, 37. 31, 13)(10, 35, 20, 56. 52. 34, 28, 14) (11,53, 49, 16, 12, 54, 50, 15), (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10,29, 52, 28)(11, 49, 12, 50) (13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59). (1, 22)(2, 32)(3, 38) (4, 41)(5, 42) (6, 7)(8, 48)(9, 51)(10, 52)(11, 12)(13, 55)(14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62) (28, 20) (30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47)(49, 50) (53, 54) (58, 59). (1. 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57)(24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54. 56, 63) (47, 59, 61, 64)]) = C8 x C4
Nao = Group([(1,45, 17, 61,22, 44, 57, 24)(2, 54,27, 15, 32, 53, 62, 16)(3, 12, 33, 50, 38, 11, 63, 49) (4, 48, 20, 64, 41,8, 21, 43)(5, 59, 19, 25, 42, 58, 18, 26) (6, 60, 39, 47,7, 23, 40, 46)(9, 56, 30, 34. 51 14, 31, 35)(10, 13, 20, 36, 52, 55, 28. 37), (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8. 43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28)(11, 49, 12, 50) (13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59). (1, 22)(2, 32)(3, 38) (4, 41)(5, 42) (6, 7)(8, 48)(9, 51)(10, 52)(11, 12)(13, 55)(14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62) (28, 20) (30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47)(49, 50) (53, 54) (58, 59). (1, 4, 6, 18)(2, 9. 11, 28)(3, 13, 15, 34) (5, 17,20, 39)(7. 19, 22, 41)(8, 23, 25. 44) (10, 27, 30, 49)(12, 20, 32. 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57)(24. 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54. 56, 63) (47, 59, 61, 64)]) = C8 x C4
Nay = Group([(1,5,7,21)(2, 10,12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42) (8, 24. 26, 47)(9, 27, 29, 50) (11, 30, 32, 52)(13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 50) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64). (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 20)(10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 2,5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51,40, 62)(6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8) (4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28) (27, 58)(29, 60)(30, 46) (31, 47)(32, 48)(33, 30)(35, 41)(40, 63)(42, 56)(43, 49)(45, 51)(50, 64)(52, 61)(54, 57)(59, 62)]) = (C4 : C8) : C2
Ni» = Group([(1.5,7,21)(2, 10,12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42) (8, 24. 26. 47)(9. 27. 29, 50) (11, 30, 32. 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45. 59) (25, 46, 48, 61) (28, 49, 51, 62)(34. 53. 5. 63)(44, 58, 60, 64). (1.3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25) (12, 26)(13, 18) (17, 53) (19, 55)(20, 36)(21, 37) (22, 38) (23, 28)(27, 58) (29, 60)(30, 46) (31, 47) (32, 48) (33, 39) (35, 41)(40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61)(54, 57)(59, 62), (1, 7)(2, 12)(3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38)(17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50 (28, 51)(30, 52)(33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (53, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32)(13, 34)(14, 36)(16, 38) (17, 30)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47, 61)(50, 62) (54, 63)(59, 64), (1,4, 6, 18)(2.9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C4 x DS
Nas = Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 3)(2, 8) (4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24) (11, 25)(12, 26)(13, 18) (17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28) (27, 58) (29, 60)(30, 46) (31, 47) (32, 48)(33, 30)(35, 41)(40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57) (59, 62), (1, 7)(2, 12) (3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36)(16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55)(37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1,2, 5, 10,7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52) 8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64)(25, 53, 46, 55, 48, 63, 61, 34)]) = (C4 : C8) : €2
Nis = Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34) (5. 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36. 53)(16. 35, 38, 55) (21 40, 42, 57)(24, 43, 46, 58)(26. 45, 48, 60) (31, 50. 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 14, 7, 37)(2, 24, 12, 47)(3, 5, 16, 21)(4, 53, 19, 63) (6, 36, 22, 56)(8, 10, 26, 31)(9, 58, 20, 64)(11, 46, 32, 61)(13, 39, 35, 57) (15, 20, 38, 42) (17, 55, 40, 34) (18, 33, 41, 54) (23, 49, 45, 62) (25, 30, 48, 52) (27, 60, 50, 44) (28,43, 51, 59), (1, 7)(2, 12) (3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2. 11)(3, 15)(4, 18)(5, 20) (7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42)(23, 44)(24, 46)(26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55 (37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1, 2, 5, 10,7, 12, 21. 31)(3, 23, 14, 43, 16, 45, 37, 59)(4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41,29, 57, 50, 18) (15, 44, 36, 53, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34)]) = (C4 : C8) : C2
Nys = Group([(1, 17,22, 57)(2, 27, 32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40) (8, 43, 48, 64)(9. 30, 51, 31)(10, 20, 52, 28) (11, 49, 12, 50) (13, 36, 55, 37)(14, 35, 56, 34)(15. 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44)(25, 58, 26, 59), (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36)(21, 37)(22, 38)(23, 28)(27, 53) (29, 60)(30, 46) (31, 47)(32, 48)(33, 39)(35, 41)(40, 63)(42, 56)(43, 49)(45. 51)(50, 64) (52, 61)(54, 57)(59. 62), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38) (17, 40)(18, 41)(20, 42)(23, 45)(24, 47)(25, 48)(27, 50)(28, 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 4,6, 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64)]) = C4 x DS
Nio = Group([(1.2,5,10,7,12,21,31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 30) (19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (20, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1,4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 20, 32, 51) (14, 33, 36, 53) (16. 35, 38, 55)(21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C4 : C8
Nz = Group([(1,23, 17, 46,22, 60, 57, 47)(2, 33, 27, 38, 32, 63, 62, 3)(4, 25, 20, 58, 41, 26, 21, 59) (5, 43, 19, 48, 42, 64, 18, 8) (6, 44, 39, 24, 7. 45, 40, 61)(9, 36,30, 55, 51, 37, 31, 13)(10, 35, 29, 56, 52, 34, 28, 14) (11, 53, 49, 16, 12, 54. 50, 15), (1. 17,22, 57)(2, 27, 32, 62)(3, 33, 38, 63) (4, 20, 41 21)(5 19,42,18)(6,39,7, 10)(8,43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28)(11.49. 12, 50)(13, 36, 55, 37) (14, 35, 56, 34) (15. 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 53, 26, 59), (1. 7)(2. 12) (3, 16)(4, 19)(5, 21)(6, 22 (8, 26)(9. 20)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48)(27, 50) (28, 51)(30. 52) (33, 54) (34. 55)(36. 56)(39, 57 (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1. 6)(2, 11)(3, 15)(4. 18)(5, 20)(7. 22)(8, 25)(9, 28)(10, 30) (12, 32) (13, 34)(14, 36) (16, 38) (17, 30)(19, 41)(21, 42) (23, 44)(24, 46 (26, 48) (27, 49)(20. 51)(31, 52) (33, 53)(35. 55) (37, 56 (40, 57) (43, 53)(45. 60) (47, 61) (50, 62)(54. 63)(59, 64). (1, 4.6, 18)(2, 9. 11, 28)(3. 3,15,34)(5,17, 20,39)(7,19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C8 x C4
Nis = Group([(1,3)(2, 8)(4, 34)(5, 14)(6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26) (13, 18)(17, 53)(19, 55) (20, 36)(21, 37)(22, 38)(23, 28)(27, 58) (29, 60) (30, 46) (31, 47)(32, 48)(33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64) (52, 61) (54, 57)(59, 62), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17,19, )(6,20,22,42)(8,24,26,47)(9,27, 20, 50)(11, 30, 32, 52)(13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 5. 63)(44, 58, 60, 64), (1,4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30)(7, 19, 22, 41) (8, 23. 25, 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35. 38, 55)(21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56)(39, 57)(43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32)(13, 34)(14, 36) (16, 38) (17, 30)(19, 41)(21, 42) (23, 44)(24, 46) (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55)(37, 56)(40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63)(59, 64), (1,2, 5,10, 7, 12, 21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64)(25, 53, 46, 55, 48, 63, 61, 34)]) = (C4 : C8) : C2
Nao = Group([(1,2,5, 10,7, 12,21, 31)(3, 23, 14, 43, 16, 45, 37, 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 53, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47) (9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15. 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1,4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21. 40, 42, 57)(24. 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 20)(10, 31)(11, 32)(13, 35) (14, 37) (15, 38)(17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (4, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20) (7, 22)(8, 25)(9, 28) (10, 30) (12, 32)(13, 34) (14, 36) (16, 38)(17, 39) (19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52) (33, 53)(35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 3)(2, 8)(4, 34) (5, 14)(6, 15)(7, 16)(9, 44) (10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20. 36) (21, 37)(22, 38)(23, 28) (27, 58) (29, 60)(30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51)(50, 64)(52, 61) (54, 57)(59, 62)]) = (C4 : C8) : C2
Nao = Group([(1,23,17, 46, 22, 60, 57, 47)(2, 33, 27, 38, 32, 63, 62, 3)(4, 25, 20, 58, 41, 26, 21, 59) (5, 43, 19, 48, 42, 64, 18, 8)(6, 44, 39, 24, 7, 45, 40, 61)(9, 36, 30, 55, 51, 37, 31, 13)(10, 35, 20, 56, 52, 34, 28, 14) (11, 53, 49, 16, 12, 54, 50, 15), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42)(8, 2 ,26,47)(9,27, 29,50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61) (28,49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 4,6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5,21)(6,22)(8,26)(9,29)(10 31)(11732)(13 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45)(24, 47) (25, 48) (27, 50)(28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22) (8, 25) (9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41)(21, 42) (23, 44) (24, 46)(26, 48) (27, 49) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 2, 5, 10 7,12,21,31)(3, 23, 14, 43 16,45, 37,59)(4, 28, 17, 49,19, 51, 40, 62)(6, 11, 20, 30, 22, 32, 42, 52) (8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57, 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34)]) = (C8 x C4) : C2
Nar = Group([(1,2,5, 10,7, 12,21, 31)(3, 23, 14, 43, 16, 45, 37. 59) (4, 28, 17, 49, 19, 51, 40, 62) (6, 11, 20, 30, 22, 32, 42, 52)(8, 33, 24, 35, 26, 54, 47, 13)(9, 39, 27, 41, 29, 57. 50, 18) (15, 44, 36, 58, 38, 60, 56, 64) (25, 53, 46, 55, 48, 63, 61, 34), (1, 3)(2, 8)(4, 34) (5, 14) (6, 15)(7, 16)(9, 44)(10, 24)(11, 25)(12, 26)(13, 18)(17, 53)(19, 55)(20, 36) (21, 37)(22, 38)(23, 28) (27, 53)(29, 60)(30, 46) (31, 47) (32, 48) (33, 39) (35, 41) (40, 63) (42, 56) (43, 49) (45, 51) (50, 64) (52, 61) (54, 57) (59, 62), (1, 5,7, 21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47) (9, 27, 20, 50) (11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 50) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58)(26. 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 7)(2, 12)(3. 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 20) (10, 31) (11, 32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64). (1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9. 28) (10, 30) (12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35. 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) = (C4 : C8) : C2

= e



